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	Joe has $250,000 to invest.
	
	
	
	

	He is considering four options"
	
	
	
	

	
	
	
	Bonds Fund
	Exxon
	MicroSoft
	Real Estate Fund

	Price per share
	
	$50 
	$100 
	$80 
	$40 

	Annual Rate of Return
	0.06
	0.12
	0.08
	0.09

	Risk measure per $ invested
	0.05
	0.10
	0.08
	0.11

	
	
	
	
	
	
	

	Joe wants at least a 9% annual rate of return 
	
	

	No one stock can be more than 50% of the total dollar investment
	

	What investment would minimize the risk?
	
	
	

	What would be the return?
	
	
	
	


